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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1a 12560 0.7 0.5 1 68.7 99.9

1b 11529 1.1 1.3 3 36.5 91.7

1c 12367 1.6 0.7 2 79.5 98.3

2a 12341 4.8 1.5 6 79.4 98.1

2bi 12246 1.6 0.7 2 81.5 97.4

2bii 11080 0.1 0.3 1 13.9 88.1

3 12482 5.5 1.3 6 91.1 99.2

4a 12552 1 0.1 1 98.6 99.8

4b 12534 0.8 0.4 1 78 99.7

4c 12494 0.9 0.3 1 90 99.3

4d 12546 0.6 0.6 1 64.8 99.8

5a 12109 2.1 1.2 3 70 96.3

5b 12289 0.5 0.5 1 49.6 97.7

5c 11938 0.4 0.7 1 40.3 94.9

5d 12306 2.7 1.4 4 67 97.8

6 12341 4 1.9 6 65.9 98.1

7a 11432 1.6 1.2 4 40.7 90.9

7b 10915 0.9 0.3 1 91.3 86.8

8a 11461 1.3 1.5 5 26.1 91.1

8b 12227 0.5 0.5 1 48.8 97.2

9ai 11744 1.8 1.8 4 45.3 93.4

9aii 8509 1.2 1.4 3 40.5 67.7

9b 9968 0.7 1 2 37.5 79.3

10a 11422 0.4 0.8 2 20.9 90.8

10b 9684 0.2 0.9 4 5.9 77

10c 9369 0.7 0.8 2 35.2 74.5

11 10475 3.5 1.7 5 69.5 83.3

12a 10960 2.5 2 5 50.7 87.1

12b 8961 0.1 0.3 1 7 71.2

12c 8778 0 0.2 1 4.4 69.8
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GCSE Mathematics-Numeracy Unit 2 Intermediate 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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WJEC GCSE MATHEMATICS - NUMERACY (NEW) 
 


SUMMER 2018 MARK SCHEME 


 


 


GCSE Mathematics – Numeracy 
Unit 2: Intermediate Tier 


Summer 2018 
Mark Comment 


1(a) 180 B1  
 


1(b) Angle measured 135° ± 2° 


    2/5 × 135°  


 
                        = 54(°) 
 


B1 
M1 


 
A1 


 


 
FT for angles other than135° ± 2° 
provided < 360° 
Accept angles in the range 53(°) to 55(°) 
 


1(c) 720 - 0.45×720   or   0.55 × 720 
                                       
                                            396 (males) 


M1 
 


A1 
 


For complete method 
 
 
If no marks, award SC1 for sight of 324 
(females) 
 


2(a) (Fresh water charge £)  
                                       25.25 × 1.08  
                                              (= 27.27) 
(Waste water charge £) 22.31 × 1.70  
                                               (=37.927) 
 
(Total bill £27.27 + £37.927 = £) 
                       65.19(7)  or 65.2(0) 
 
Undercharged (by) 
                (£)6.4(0) or (£)6.39(7) 
 
 
 
 
 
Organisation and communication 
 
 
 
 
 
 
 
 
 
 
Writing 
 


M1 
 


 
M1 


 
 


A1 
 
 


B1 
 


 
 
 
 
OC1 


 
 
 
 
 
 
 
 
 
 


W1 
 


 
 
 
 
 
 
CAO 
 
 
Must state under charged and the amount, 
however accept –(£)6.4(0) or –(£)6.39(7) 
FT difference between ‘their derived total’ 
and £58.80 with appropriate conclusion, 
over or under charged 
 
For OC1, candidates will be expected to: 
• present their response in a structured 
way 
• explain to the reader what they are doing 
at each step of their response 
• lay out their explanations and working in 
a way that is clear and logical 
• write a conclusion that draws together 
their results and explains what their 
answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, 
punctuation and grammar 
• use correct mathematical form in their 
working 
• use appropriate terminology, units, etc. 
 


  












Sticky Note

Unfortunately the candidate did not measure the angle accurately, enough though a 2 degree tolerance is allowed,

Hence B0

2/5 of 138 has not been attempted, hence
M0 A0












Sticky Note

The candidate noticed the 90 degrees and the symmetry, hence calculated the 135 degrees.
And correctly evaluated 2/5 of 135 to find an angle of 54 degrees.

B1 M1 A1
















Sticky Note



willir

Sticky Note

Marked set by willir












(3310U40-1) Turn over.


3
31


0
U


4
0


1
0


3


3
Examiner


only


© WJEC CBAC Ltd.03


1.	 In a survey, 720 students were asked if they preferred to take part in gym activities, team sports 
or individual sports.


	 They were asked to choose just one of these options. 
	 The results are displayed in the pie chart below.


Team sports


Individual
sports


Gym activities


	 (a)	 How many students selected individual sports?
		  Circle your answer.	 [1]


90                     180                     270                     405                     540


	


	 (b)	 Carwyn plans to split team sports on the pie chart into football and other team sports.


		  Of the students who selected team sports,     said their preferred team sport was football.


		  What angle should Carwyn draw to represent football?	 [3]


	


	


	


	


Angle is . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °


	 (c)	 720 students took part in the survey. Only 45% were female.
		  How many males took part in the survey?	 [2]


	


	


	


Number of males is . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


2
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WJEC GCSE MATHEMATICS - NUMERACY (NEW) 
 


SUMMER 2018 MARK SCHEME 


 


 


GCSE Mathematics – Numeracy 
Unit 2: Intermediate Tier 


Summer 2018 
Mark Comment 


1(a) 180 B1  
 


1(b) Angle measured 135° ± 2° 


    2/5 × 135°  


 
                        = 54(°) 
 


B1 
M1 


 
A1 


 


 
FT for angles other than135° ± 2° 
provided < 360° 
Accept angles in the range 53(°) to 55(°) 
 


1(c) 720 - 0.45×720   or   0.55 × 720 
                                       
                                            396 (males) 


M1 
 


A1 
 


For complete method 
 
 
If no marks, award SC1 for sight of 324 
(females) 
 


2(a) (Fresh water charge £)  
                                       25.25 × 1.08  
                                              (= 27.27) 
(Waste water charge £) 22.31 × 1.70  
                                               (=37.927) 
 
(Total bill £27.27 + £37.927 = £) 
                       65.19(7)  or 65.2(0) 
 
Undercharged (by) 
                (£)6.4(0) or (£)6.39(7) 
 
 
 
 
 
Organisation and communication 
 
 
 
 
 
 
 
 
 
 
Writing 
 


M1 
 


 
M1 


 
 


A1 
 
 


B1 
 


 
 
 
 
OC1 


 
 
 
 
 
 
 
 
 
 


W1 
 


 
 
 
 
 
 
CAO 
 
 
Must state under charged and the amount, 
however accept –(£)6.4(0) or –(£)6.39(7) 
FT difference between ‘their derived total’ 
and £58.80 with appropriate conclusion, 
over or under charged 
 
For OC1, candidates will be expected to: 
• present their response in a structured 
way 
• explain to the reader what they are doing 
at each step of their response 
• lay out their explanations and working in 
a way that is clear and logical 
• write a conclusion that draws together 
their results and explains what their 
answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, 
punctuation and grammar 
• use correct mathematical form in their 
working 
• use appropriate terminology, units, etc. 
 


  












Sticky Note

M1 method for finding fresh water charge



Sticky Note

A correct response with a correct conclusion, hence B1



Sticky Note

OCW2 is awarded

Calculations, units, label and a conclusion












Sticky Note

M1 M1 A1 B1
Mathematics is correct


OCW1 as two of the calculations are not labeled, although the candidate clearly knows that this is required from the first two calculations.












3 








4


(3310U40-1)


Examiner
only


© WJEC CBAC Ltd.04


2.	 Miss Price has received her total bill for water.
	 It is based on estimates of how much fresh water is used and how much waste water is produced.
	 Her bill is £58.80.


	 Miss Price’s actual use of water was as follows:
	 •	 fresh water used 25.25 m3,
	 •	 waste water produced 22.31 m3.


	 Fresh water used costs £1.08 per m3.
	 Waste water produced costs £1.70 per m3.


	 (a)	 In this part of the question, you will be assessed on the quality of your organisation, 
communication and accuracy in writing.


		  By how much has Miss Price been overcharged or undercharged?
		  You must show all your working.	 [4 + 2 OCW]


	


	


	


	


	


	


	


	


	


	


	


	 (b)	 (i)	


		  Use this conversion to calculate how much fresh water Miss Price used in gallons.
	 [2]


	


	


	


. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . gallons


Remember
1 m3 ≈ 220 gallons





















willir

Sticky Note

Marked set by willir
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2(b)(i)  25.25 × 220 
                                 5555 (gallons) 


M1 
A1 


 


 
Mark final answer 
If no marks SC1 for either 
(47.56 × 220 =) 10463(.2 gallons), or 
(22.31 × 220 =) 4908(.2 gallons) 
 


2(b)(ii) Suitable reason, e.g.  
‘as the conversion was only 
approximate’, 
‘the gallons could have been rounded 
up or down’, 
‘because it is to the nearest gallon’  
 


E1 
 
 
 


Accept ‘I rounded my answer’ following 
(b)(i) having been rounded, otherwise do 
not accept, e.g. ‘Miss Price’s bill may have 
been rounded up or down’ 
 
Do not accept, e.g. 
‘she could have used less or more’,   
‘she did not use an exact number of 
gallons’ (as this repeats the question),  
‘she rounded up the amount of fresh water 
used’, 
‘it is based on an estimate of how much 
fresh water is used and how much waste 
water is produced’, 
‘it is likely she used just over or under a 
certain number of gallons’, 
‘because it is an estimate’   
 


3. (Cost of 1 apple 78 ÷ 3 =) 26(p) 
 
 
(Cost of 1 pear =)   (1(.)22 – 26)  ÷ 3 
 
 
 
 
 
 
                                             (=) 32(p) 
 
(Cost of 5 pears + 2 apples =) 
         5 × (0.)32 + 2 × (0.)26   
  or    1(.)60 + (0.)52) 
 
                          (=) (£)2.12 or  212(p) 
 
(Change £5 – 2.12 =)          (£)2.88 


B1 
 
 


M1 
 
 
 
 
 
 


A1 
 


M1 
 
 
 


A1 
 


B1 
 
 


Accept 0.26p only if used correctly in 
further working 
 
Allow intention to divide by 3 
FT 'their 26' provided evidence of 78 ÷ 3 
Algebraic notation is not required 
Allow inconsistent place value for M1 only, 
unless corrected later,  
i.e. 3 pears + 26 = 1.22 or 
       3 pears = 1.22 – 26 
 
 
FT 5× ‘their (0.)32’ + 2 × 'their (0.)26'   
Allow inconsistent place value for M1 only, 
unless corrected later 
 
If units are given they must be correct 
 
FT provided at least 3 previous marks are 
awarded 
Do not penalise incorrect units if already 
penalised, otherwise penalise incorrect 
units -1 
 


  












Sticky Note

78p is the cost of 3 apples, not 1 apple.


B0 M0 A0
As no attempt has been made to find the cost of one apple.



Sticky Note

Follow through to find the cost of 5 pears and 2 apples, with the repeated error that the candidate thinks one apple costs 78p.

Hence M1 A1

But B0 as only 2 previous marks awarded.





















Sticky Note

This candidate seems to think there are 24.25 symbols which is correct, hence
B1 M0 A0
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	 (ii)	 Explain why your answer in part (b)(i) is not the exact number of gallons Miss Price 
used.	 [1]


	


	


	


	


3.	 Emrys, Layla and Rhys go shopping together for fruit.
	 They buy pears and apples from a market stall.


	 Emrys buys 3 pears and 1 apple for £1.22.


	 Layla buys 3 apples for 78p.


	 Rhys buys 5 pears and 2 apples.


	 How much change will Rhys receive from £5 when paying for 5 pears and 2 apples?	 [6]


	


	


	


	


	


	


	


	


	


	


	


Change from £5 is £ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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5(a) 24.25 suitcase symbols 
  9700 ÷ 24.25 
 
 
 
 
 
 
       (Represents)  400 (people) 


B1 
M1 


 
 
 


 
 
 


A1 


 
FT ‘their 24.25’ provided ≥ 23 
Allow M1 for sight of any one of 


 422 × 23 = 9706 


 404 × 24 = 9696 


 388 × 25 = 9700 
24.25 ÷ 9700 is M0, unless 400 seen 
 
FT provided ‘their 400’ is rounded to a 
whole number of people 
Do not allow an embedded answer with a 
multiplication 
 
Unsupported 400 (people) is awarded all 3 
marks 
 
(Note:  
     9700 ÷ 23 gives 421 or 422 people 
     9700 ÷ 23.25 gives 417 or 418 people 
     9700 ÷ 23.75 gives 408 or 409 people 
     9700 ÷ 24 gives 404 or 405 people 
     9700 ÷ 25 gives 388 people 
     9700 ÷ 26 gives 373 or 374 people 
     9700 ÷ 27 gives 359 or 360 people 
     9700 ÷ 28 gives 346 or 347 people 
     9700 ÷ 29 gives 334 or 335 people 
     9700 ÷ 30 gives 323 or 324 people) 
 


5(b) 3 : 2 B1 
 


 


5(c) Italy B1 
 


 


5(d) 590 × 0.6(0) ÷ 1.18 or equivalent 
  
 
 
 
 
 
 
 
 
 
 
                                              (£) 300 


M3 
 
 
 
 
 
 
 
 
 
 
 


A1  
 
 
 


Ignore any additional incorrect calculations 
for M2 or M1 
 
M2 for 590 × 0.6(0) (= 354) or equivalent, 
or 
M1 for 590 ÷ 1.18 (= 500) 
 
OR 
 
M1 for 590 – ‘their 40% of 590’ AND 
M1 for ‘their 60%’ ÷ 1.18 
 
CAO.   
Accept an embedded answer,  
300 ×1.18 = 354 
 
An answer of (£)200, from  
590 × 0.4(0) ÷ 1.18 is awarded M1  
(for 590 ÷ 1.18)  and then SC1 
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5(a) 24.25 suitcase symbols 
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       (Represents)  400 (people) 


B1 
M1 


 
 
 


 
 
 


A1 


 
FT ‘their 24.25’ provided ≥ 23 
Allow M1 for sight of any one of 


 422 × 23 = 9706 


 404 × 24 = 9696 


 388 × 25 = 9700 
24.25 ÷ 9700 is M0, unless 400 seen 
 
FT provided ‘their 400’ is rounded to a 
whole number of people 
Do not allow an embedded answer with a 
multiplication 
 
Unsupported 400 (people) is awarded all 3 
marks 
 
(Note:  
     9700 ÷ 23 gives 421 or 422 people 
     9700 ÷ 23.25 gives 417 or 418 people 
     9700 ÷ 23.75 gives 408 or 409 people 
     9700 ÷ 24 gives 404 or 405 people 
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     9700 ÷ 27 gives 359 or 360 people 
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     9700 ÷ 30 gives 323 or 324 people) 
 


5(b) 3 : 2 B1 
 


 


5(c) Italy B1 
 


 


5(d) 590 × 0.6(0) ÷ 1.18 or equivalent 
  
 
 
 
 
 
 
 
 
 
 
                                              (£) 300 


M3 
 
 
 
 
 
 
 
 
 
 
 


A1  
 
 
 


Ignore any additional incorrect calculations 
for M2 or M1 
 
M2 for 590 × 0.6(0) (= 354) or equivalent, 
or 
M1 for 590 ÷ 1.18 (= 500) 
 
OR 
 
M1 for 590 – ‘their 40% of 590’ AND 
M1 for ‘their 60%’ ÷ 1.18 
 
CAO.   
Accept an embedded answer,  
300 ×1.18 = 354 
 
An answer of (£)200, from  
590 × 0.4(0) ÷ 1.18 is awarded M1  
(for 590 ÷ 1.18)  and then SC1 
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6. Costs are 
 (Helmet with discount £) 80 – 0.15 × 80  
              or  0.85 × 80  or equivalent 
 
(Fuel, 1 month =£) 1.26 × 350 ÷ 20   
                             or 0.06(3) × 350 
 
(Total of all costs  
400 + 151.2(0) + 37 + 68 + 22.05 or 
588.20 + 68 + 22.05) 
                                              (£)678.25 
 
 
 
 
 
 
 
 
 
 
 (Need to save for)  
                          678.25 ÷ 60 (months) 
 
 
 
 
 
 
 
            12 (complete months) 


 
M1 


 
 
M1 


 
 
M1 


 
 


A1 
 
 
 
 
 
 
 
 
 
 
m1 


 
 
 
 
 
 
 


 
A1 


 
 


 


 
(= £68)  May be considered in stages 
 
 
(=£22.05 or £21) 
 
 
FT 'their £68' and 'their £22.05' (including 
use of £21)  
 
CAO.   
OR from alternative method looking at 
months to save for each item sight of 
either  
11 months and a further (£)18.25 to pay 
or 
12 months and (£)41.75 left over 
 
(this method implies possible final m1 
and/or A1) 
 
Award of m1 may be implied by A1 
rounded up number of complete months 
FT ‘their £678.25' provided at least M1 
previously awarded  
(£677.20 ÷ 60 leads to 11.2866....) 
Allow sight of repeated addition of £60, at 
least showing 11 lots of £60 (= £660) 
An answer of 11(.3… months) implies m1 
 
FT for ‘their total cost’ ÷ 60 with the 
answer rounded up to whole number of 
months provided at least M1 previously 
awarded 
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8(a) (Rhodri’s time is) 5.5/22 
                    = 0.25 (hours) or 15 mins 
 
 
 
Megan’s time is 0.25 (hrs) – 5 mins 


 (10 minutes or  
1


6 
 hour or 0.166…hour) 


 


 
 
 
(Megan’s route is)  
                            12 × 10     (÷ 60) 


 
                                         = 2 (miles) 
 


M1 
A1 


 
 
 


M1 
 


 


 


 


M1 
 
 
 


A1 
 


 
Use of 0.25 hours as 25 minutes is A0 
otherwise if not used, ignore incorrect 
conversion to minutes 
 
For the idea, irrespective of inconsistent 
units 
FT 'their 0.25 hours' or 'their 15 minutes', 
including use of 0.25 hours, e.g. as 25 
minutes 
 
FT ‘their time used', written in hours or 
minutes provided at least M1 previously 
awarded 
 
CAO 
No marks for an unsupported answer of 2 
(miles) 


 


8(b)  66 (km/h) B1  
 


 


9(a)(i) (x
2
 =) 3


2
 + 12


2
 


x
2
 = 153  or (x =) √153  


 
                                              12.4 (cm) 


M1 
A1 


 
A2 


Or alternative full method 
Or accurate first stage of alternative full 
method 
Must be 3 s.f. 
A1 for sight of (x =) 12.40 or 
12.3(69…cm), NOT for 12 (cm)  
FT from M1 for the correctly evaluated 
square root of ‘their 153’ provided ‘their 
answer’ > 12 (cm) 
 


9(a)(ii) (y=) tan
-1


3/12 or tan
-1


 0.25, or  
cos


-1
 12/12.4 or cos


-1
 0.967.. or  


cos
-1


 0.97.., or sin
-1


3/12.4 or sin
-1


0.24…, 
 
   (y =)14.(0...°)            (which is < 15°) 


M2 
 
 
 


A1 


FT ‘their 12.4’ provided > 12 (cm) 
M1 for tany = 3/12 or cosy = 12/12.4  
       or siny = 3/12.4 
 
Accept 14.(59...°) from use of 12.4 cm 
  


9(b) 12 × 4.5 ÷ 3     or   4.5/tan14(.0..°) 
         18(cm)           or    18.0(… cm) 


M1 
A1 


 


FT ‘their angle y’  
ISW to calculate the hypotenuse 
 


10(a) (2 × ) 65 × 5 
                                  650 (m


2
) 


 


M1 
A1 


 
 
 


10(b) (Area of both ends) π×20
2
 - π×15


2
 


or equivalent                         (=549.7.....) 
 
 
                                        + 650 
 
 
 
An answer in the range  
                           1199 (m


2
) to 1200 (m


2
) 


 


M2 
 
 
 
m1 


 
 
 


A1 


(= 1256.(...) – 706.(...)) 
M1 for ½ × π × 20


2
 - ½ × π × 15


2
 or 


           2 × π × 20
2
 - 2 × π × 15


2
 


 
FT adding ‘their (a)’ 
FT provided at least M1 previously 
awarded 
 
Accept 175π + 650 (m


2
) 


FT from M2, m1 previously awarded 


10(c) Area × (0.)20 ÷ 3 
 
                                              £80 


M1 
 


A1 
 


FT ‘their area’  from 10(b)  
 
Must be correct to the nearest £ 
An answer of 8000 implies M1, A0 
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5.	 Mena is going on holiday.
	 She hasn’t decided where to go yet.
	 In a travel brochure, Mena sees a pictogram showing the
	 holiday destinations of 9700 people.


Pictogram showing holiday destinations of 9700 people


Wales


Italy


Spain


France


USA


Mexico


	 (a)	 Complete the key for the pictogram.	 [3]


                       represents …….. . . . . . . . . . . .…………. people


	


	


	


	


	

















Sticky Note

40% is spent, so 60% should have been considered.

The division is by 1.18, with the place value considered in the final answer.  Although the division has not be evaluated accurately (£200)

M1 is awarded for division by 1.18

No other marks are awarded.





















Sticky Note

The candidate has not interpreted the 40% spent correctly.
They should be considering 60% of €590 not 40% of €590.

Conversion to pounds is appropriate.

M1 SC1 is awarded.












willir

Sticky Note

Marked set by willir












Linda





willir

Sticky Note



willir

Sticky Note

Marked set by willir





















Sticky Note

A correct response.

M3 A1
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	 (b)	 What is the following ratio in its simplest form?


number of people who went to Spain  :  number of people who went to the USA


		  Circle your answer.	 [1]


6 : 4            4 : 6            400 : 600            3 : 2            2 : 3


	


	


	 (c)	 Look at the pictogram. The ratio of the number of people who went to Wales to the 
number of people who went to another country is 2 : 3.


		  Which country is this?	 [1]


				    2 : 3
			   Wales : . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 (d)	 Mena goes on holiday to France.
		  She takes 590 euros with her on holiday. 


		  Mena only spends 40% of her euros.


		  When she returns from holiday, she exchanges her remaining euros for pounds.
		  The exchange rate is £1 = 1.18 euros.
		  How many pounds does Mena receive?	 [4]


	


	


	


	


	


	


	


	


	

















Sticky Note

Correct method to find the cost of the helmet.



Sticky Note

Method correct, to total all 5 costs.

M1



Sticky Note

A0

As correct answer only from correct method is required.



Sticky Note

19 months is a correct conclusion for the candidate’s total cost (divided by 60 and rounded up).
Hence m1 A1 awarded.





















Sticky Note

Fuel cost and helmet cost methods are correct and accurately evaluated.



Sticky Note

The cost of the fuel has not been included in the total cost, hence
M0 and A0



Sticky Note

Correct follow through for the candidate’s total cost, hence
m1 A1

























Sticky Note
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6.	 Grace sees a newspaper advertisement for Blake’s Mopeds.


Blake’s Mopeds
Best deal!


Valid if you show this advertisement.


	 Other costs payable are
	 •   insurance £151.20,
	     and
	 •   vehicle tax £37.


Moped £400 Helmet should be 
£80, we offer 15% 


off this price


	 Grace is planning to save for this offer.
	 She also wants to save enough money for the first month’s fuel.


	 The moped travels 20 miles on each litre of fuel.
	 A litre of fuel costs £1.26.
	 Grace estimates she will travel approximately 350 miles each month on her moped.


	 Starting this month, Grace will be able to save £60 per month.


	 After how many complete months will Grace have saved enough money for this offer, including 
the first month’s fuel?


	 You must show all your working.	 [6]


	


	


	


	


	


	


	


	


	


	








willir

Sticky Note

Marked set by willir



willir

Sticky Note

Marked set by willir



willir

Sticky Note

Marked set by willir












Sticky Note

An incorrect interpretation of 0.25 hours used.

This should be 15 minutes not 25 minutes.


M1 A0

But followed through.



Sticky Note

5 minutes taken off the time the candidate thinks Rhodri took.

M1



Sticky Note

Appropriate distance calculation using 
their time x speed

M1  

But A0 as correct answer only 



willir

Sticky Note

Marked set by willir



willir

Sticky Note

Marked set by willir



willir

Sticky Note

Marked set by willir





















Sticky Note

Subtracting 5 minutes from the 15 minutes is correct.

M1



Sticky Note

Again logic used rather than a formula, leading to a correct response.

M1 A1
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8.	 (a)	 Megan and Rhodri both set out at the same time from home to go to the swimming pool.
		  Rhodri travels by car.
		  Megan cycles straight through the park.


© WJEC CBAC Ltd.


Home


Megan’s route


Rhodri’s route


Swimming pool


Diagram not drawn to scale


		  Rhodri’s journey by car is 5.5 miles.
		  His average speed for the journey is 22 mph.


		  Megan’s average speed on her bike is 12 mph.
		  Megan arrives at the swimming pool 5 minutes before Rhodri.


		  Calculate the distance Megan cycles.
		  Give your answer in miles.
		  You must show all your working.	 [5]


	


	


	


	


	


	


	


	


	


	


Distance Megan cycles is …….. . . . . . . . . . . . . . . . . . . . . . . . . .……… miles







